

Research Article

The Core Mathematical Error in the Protein-Ligand Binding Expression

Manjunath. R*

Department of Mathematics, India

*Corresponding Author

Manjunath. R, Department of Mathematics, India.

Submitted: 2024, Jul 30; **Accepted**: 2024, Aug 20; **Published**: 2024, Sep 03

Citation: Manjunath. R. (2024). The Core Mathematical Error in the Protein-Ligand Binding Expression. *J Math Techniques Comput Math*, 3(9), 01-02.

Abstract

The dissociation of a **protein-ligand complex** (PL) can be represented by the equilibrium reaction $PL \Rightarrow P + L$, with the equilibrium relationship defined by the dissociation constant K such that $K = \frac{[P][L]}{[PL]}$. In this equation $[P] = [P]_T - [PL]$ and $[L] = [L]_T - [PL]$, where $[P]_T$ and $[L]_T$ represent the initial total concentrations of the protein and ligand, respectively.

Case1

If we substitute $[P]_T - [PL]$ for [P] and $[L]_T - [PL]$ for [L], then equilibrium relationship becomes $K = \frac{([P]_T - [PL])([L]_T - [PL])}{[PL]}$. From this, it follows that $[PL] = \frac{[P][L]_T}{K + [P]}$.

Case2

If we substitute $[L]_{\tau}$ – [PL] for [L], $[P]_{\tau}$ – [PL] for [P], and $[P]_{\tau}$ – [P] for [PL], the equilibrium relationship becomes $K = \frac{([P]_{\tau} - [PL])([L]_{\tau} - [PL])}{[P]_{\tau} - [P])}$. From this it follows that $K - [L] = KF_{FP} - F_{BP}[L]$ (which is an incorrect result).

Conclusion

To avoid obtaining incorrect results, substitutions for '[PL]' should not be used in conjunction with substitutions for '[L]' and '[P]'.

Keywords: Protein-Ligand Binding, Protein-Ligand Complex, Equilibrium Reaction, Dissociation Constant

1. Introduction

A protein in solution can exist in two forms: bound and unbound. Depending on the protein's affinity for the ligand, a portion of the protein may bind to the ligand while the rest remains unbound. If the binding between the protein and ligand is reversible, a chemical equilibrium is established between the bound and unbound states, represented by the reaction:

 $P ext{ (protein)} + L ext{ (ligand)} \Rightarrow PL ext{ (protein-ligand complex)}$ The dissociation constant for this equilibrium is:

$$K = \frac{[P][L]}{[PL]}$$

In this equation, $[P] = [P]_T - [PL]$ and $[L] = [L]_T - [PL]$, where $[P]_T$ and $[L]_T$ represent the initial total concentrations of the protein and ligand, respectively. The **dissociation constant** K is a key measure of a protein's affinity for its ligand. It indicates the concentration of the protein needed to achieve a significant level of interaction with the ligand. Specifically, when the protein concentration equals K, 50% of the ligand will be bound in the protein-ligand complex, and the remaining 50% will be free "[L]". This is true when the protein is present in excess relative

to the ligand. Generally, for effective ligand binding, proteins should have a K value of 1×10^{-6} M or lower. Smaller K values indicate stronger binding affinity, while higher K values suggest weaker binding.

2. Case 1

Using the equilibrium relationship $K = \frac{[P][L]}{[PL]}$ and substituting, $[P]_T - [PL]$ for [P] $[L]_T - [PL]$ for [L] Gives:

$$K = \frac{\left(\left[P\right]_T - \left[PL\right]\right)\left(\left[L\right]_T - \left[PL\right]\right)}{\left[PL\right]}$$

K $[PL] = [P]_T [L]_T - [P]_T [PL] - [PL] [L]_T + [PL]^2$ Dividing throughout by [PL] gives:

$$K = \frac{[P]_T [L]_T}{[PL]} - [P]_T - [L]_T + [PL]$$

But

$$[P]_{T} = [PL] + [P]$$

And, therefore:

$$K = \frac{[P]_T [L]_T}{[PL]} - [P] - [L]_T$$

$$K = \frac{[P]_T [L]_T}{[PL]} - [L]_T - [P]$$

$$K = [L]_T (\frac{[P]_T}{[PL]} - 1) - [P]$$

From this it follows that:

$$K + [P] = \frac{[P] [L]_T}{[PL]}$$

Rearranging:

$$[PL] = \frac{[P] [L]_T}{K + [P]} \dots [1]$$

Discussion

This describes a rectangular hyperbola with key properties:

- Saturation: When [P]>>K, [PL] approaches [L]_T
- Half-saturation: When [P] = K, $[PL] = \frac{[L]_T}{2}$. This means the dissociation constant equals the free protein concentration needed for 50% of the ligand to be bound.
- Linearity: When $[P] \ll K$, [PL] is roughly proportional to [P]with a slope of $\frac{[L]_T}{\kappa}$.

3. Case 2

Using the equilibrium relationship $K = \frac{[P][L]}{[PL]}$ and substituting, $[P]_T - [PL]$ for [P]

 $[L]_{T}$ – [PL] for [L]

 $[P]_{T}$ – [P] for [PL] Gives:

$$K = \frac{\left(\left[P\right]_T - \left[PL\right]\right)\left(\left[L\right]_T - \left[PL\right]\right)}{\left(\left[P\right]_T - \left[P\right]\right)}$$

$$K([P]_T - [P]) = ([P]_T - [PL])([L]_T - [PL])$$

 $K[P]_T - K[P] = [P]_T[L]_T - [P]_T[PL] - [PL][L]_T + [PL]^2$

Rearranging:

$$K[P]_{T} - [P]_{T}[L]_{T} + [P]_{T}[PL] = -[PL][L]_{T} + [PL]^{2} + K[P]$$

 $[P]_{T}(K - [L]_{T} + [PL]) = [PL](-[L]_{T} + [PL]) + K[P]$

Further, if we substitute:

$$[L]_{T} = [PL] + [L]$$

Then we get:

$$[P]_T (K - [PL] - [L] + [PL]) = [PL] (-[PL] - [L] + [PL]) + K [P]$$

 $[P]_T (K - [L]) = - [PL] [L] + K [P]$

Which is the same as:

$$[P]_{T}(K-[L])=K[P]-[PL][L]$$

$$K - [L] = K \frac{[P]}{[P]_T} - \frac{[PL]}{[P]_T} [L]$$

Labeling $\frac{[P]}{[P]_T}$ as F_{FP} (fraction of free protein) and $\frac{[PL]}{[P]_T}$ as F_{BP} (fraction of bound protein), the above expression can be rewritten as:

$$K - [L] = K F_{EP} - F_{RP} [L] \dots [2]$$

Discussion

- If $F_{FP} = F_{BP} = 1$, then the left-hand side (LHS) equals the righthand side (RHS), making Equation (2) true.
- If $F_{FP} = F_{BP} \neq 1$, then the left-hand side (LHS) does not equal the right-hand side (RHS), rendering Equation (2) invalid.
- Let's verify the condition " $F_{FP} = F_{RP} = 1$."

According to the protein conservation law:

$$[P]_{T} = [PL] + [P]$$

From this, we get:

$$1 = F_{BP} + F_{FI}$$

 $1 = F_{BP} + F_{FP}$ If we assume $F_{BP} = F_{FP} = 1$, we get:

$$1 = 2$$

This shows that the condition $F_{FP} = F_{BP} = 1$ is impossible, since 1 is not equal to 2.

In fact, the only way it can happen that K - [L] = K - [L] is if

both $F_{FP} = F_{BP} = 1$. Since $F_{FP} = F_{BP} \neq 1$, Equation (2) is not valid.

4. Conclusion

In Case 1, the substitutions correctly lead to:

$$[PL] = \frac{[P] [L]_T}{K + [P]}$$

In Case 2, the substitutions produce an incorrect result:

$$K - [L] = K F_{FP} - F_{BP} [L]$$

Therefore, Case 1 is correct, while Case 2 is not. Substituting [PL] along with substitutions for [L] and [P] should be avoided to prevent incorrect results.

References

- Garrett, R. H., Grisham, C. M. (2010). Biochemistry. Cengage Learning Inc.
- Palmer, T. (2001). Enzymes: Biochemistry Biotechnology 2. Clinical Chemistry. Horwood Pub Ltd.
- Eaton, B. E., Gold, L., & Zichi, D. A. (1995). Let's get specific: the relationship between specificity and affinity. Chemistry & biology, 2(10), 633-638.
- Du, X., Li, Y., Xia, Y. L., Ai, S. M., Liang, J., Sang, P., ... & Liu, S. Q. (2016). Insights into protein-ligand interactions: mechanisms, models, and methods. International journal of molecular sciences, 17(2), 144.
- Lodish, H. F. (2008). Molecular cell biology. Macmillan.
- Zhou, H. X., Rivas, G., & Minton, A. P. (2008). Macromolecular crowding and confinement: biochemical, biophysical, and potential physiological consequences. Annu. Rev. Biophys., 37(1), 375-397.

Copyright: ©2024 Manjunath. R. This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.